THE GENERALIZED QUASILINEARIZATION FOR INTEGRO-DIFFERENTIAL EQUATIONS OF VOLTERRA TYPE ON TIME SCALES

TADEUSZ JANKOWSKI

ABSTRACT. We apply the method of quasilinearization to integro-differential equations of Volterra type. It is shown that two monotone sequences converge quadratically to a unique solution of our problem.

1. Introduction. Throughout this paper, we denote by **T** any time scale (nonempty closed subset of real numbers **R**). By J = [0, T], we denote a subset of **T** such that $[0, T] = \{t \in \mathbf{T} : 0 \le t \le T\}$. By $C(J, \mathbf{R})$, we denote the set of continuous functions $u : J \to \mathbf{R}$.

In this paper, we investigate the following first order integro-differential equations of Volterra type on time scales

(1)
$$\begin{cases} x^{\triangle}(t) = f\left(t, x(t), \int_0^t k(t, s) x(s) \triangle s\right) \equiv (\mathcal{F}x)(t) & t \in J, \\ x(0) = x_0 \in \mathbf{R}, \end{cases}$$

where
$$f \in C(J \times \mathbf{R} \times \mathbf{R}, \mathbf{R}), k \in C(J \times J, \mathbf{R}).$$

The method of quasilinearization is a well-known technique for obtaining approximate solutions of nonlinear differential equations (for details, see for example [7] and references therein). There is a lot of application of this method to ordinary differential equations both with initial and boundary conditions. This technique can also be applied to corresponding problems on time scales (see, for example [2, 3]). In this paper, we apply the generalized quasilinearization method for integro-differential problems of Volterra type on time scales. The purpose of this paper is to exploit the recent ideas of this method applied to non-linear differential equations (see, for example [7]). We investigate the

AMS Mathematics Subject Classification. Primary 34A10, 34A45. Key words and phrases. Integrodifferential equations of Volterra type, quasilinearization method, lower and upper solutions, time scales, quadratic convergence. Received by the editors on April 18, 2005.

case when $f + \Phi$ is convex for some convex function Φ . It is shown that two monotone sequences converge quadratically to a unique solution of problem (1). Note that in papers [2, 3] for the corresponding function f, the quasilinearization method was applied for $\Phi = 0$. It means that our approach is more general than in [2,3]. In the last section, we discuss the application of the generalized quasilinearization method when f in equation (1) is replaced by f + g assuming that $f + \Phi$ is convex for some convex function Φ and $g + \Psi$ is concave for some concave function Ψ

2. Calculus on time scales. In 1988, Stefan Hilger [5] introduced the calculus of measure chains in order to unify continuous and discrete analysis. Major works devoted to the calculus on time scales has been conducted by Agarwal and Bohner [1], Bohner and Peterson [4], Kaymakçalan et al. [6].

We present some definitions and notations which are common in the recent literature. We define the forward jump operator $\sigma: \mathbf{T} \to \mathbf{T}$ by

$$\sigma(t) = \inf\{s \in \mathbf{T} : s > t\},\$$

while the backward jump operator $\rho: \mathbf{T} \to \mathbf{T}$ is defined by

$$\rho(t) = \sup\{s \in \mathbf{T} : s < t\}.$$

If $\sigma(t) > t$, then we say that t is right-scattered. If $\sigma(t) < t$, then we say that t is left-scattered. Points that are right-scattered and left-scattered at the same time are called isolated. If $t < \sup \mathbf{T}$ and $\sigma(t) = t$, then t is called right-dense, and if $t > \inf \mathbf{T}$ and $\rho(t) = t$, then t is called left-dense. Finally, the graininess function $\mu : \mathbf{T} \to [0, \infty)$ is defined by $\mu(t) = \sigma(t) - t$. If \mathbf{T} has a left-scattered maximum m, then $\mathbf{T}^k = \mathbf{T} - \{m\}$; otherwise, $\mathbf{T}^k = \mathbf{T}$. Now we consider a function $f : \mathbf{T} \to \mathbf{R}$ and let $t \in \mathbf{T}^k$. Then we define $f^{\triangle}(t)$ to be the number (provided it exists) with the property that, given any $\varepsilon > 0$, there is a neighborhood U of t, i.e., $U = (t - \delta, t + \delta) \cap \mathbf{T}$ for some $\delta > 0$, such that

$$|[f(\sigma(t)) - f(s)] - f^{\triangle}(t)[\sigma(t) - t]| \le \varepsilon |\sigma(t) - s|$$

for all $s \in U$. We call $f^{\triangle}(t)$ the delta (or Hilger) derivative of f at t. If $\mathbf{T} = \mathbf{R}$, then $f^{\triangle} = f'$; if $\mathbf{T} = \mathbf{Z}$ (the integers), then $f^{\triangle}(t) = f(t+1) - f(t)$.

Theorem 1 [4]. Assume $f, g : \mathbf{T} \to \mathbf{R}$, and let $t \in \mathbf{T}^k$. Then we have the following

- (1) If f is differentiable at t, then f is continuous at t.
- (2) If f is continuous at t and t is right-scattered, then f is differentiable at t with

$$f^{\triangle}(t) = \frac{f(\sigma(t)) - f(t)}{\mu(t)}.$$

(3) If f is differentiable at t and t is right-dense, then

$$f^{\triangle}(t) = \lim_{s \to t} \frac{f(t) - f(s)}{t - s}.$$

(4) If f is differentiable at t, then

$$f^{\sigma}(t) = f(t) + \mu(t)f^{\triangle}(t), \quad where \quad f^{\sigma} = f \circ \sigma.$$

(5) If f and g are differentiable at t, then so is fg with

$$(fg)^{\triangle}(t) = f^{\triangle}(t)g(t) + f^{\sigma}(t)g^{\triangle}(t).$$

A function $F: \mathbf{T} \to \mathbf{R}$ is called an antiderivative of $f: \mathbf{T} \to \mathbf{R}$ provided $f^{\triangle}(t) = f(t)$ for all $t \in \mathbf{T}^k$. In this case, we define the integral of f by

$$\int_{s}^{t} f(r)\Delta r = F(t) - F(s) \quad \text{for} \quad s, t \in \mathbf{T}.$$

3. Some lemmas. Below we cite two lemmas from [8].

Lemma 1 [8]. Suppose that

- (H_1) there is a continuous function $k: J \times J \to \mathbf{R}_+$ and $K_0 = \max\{k(t,s): t,s \in J\} > 0$,
- (H_2) there exist two positive functions m,n continuous on J such that $\alpha = \sup_{t \in J} [\mu(t)m(t)] < 1$ and

(2)
$$\frac{\alpha N_0 K_0 P}{m_0} \le 1 - \alpha,$$

where

$$N_0 = \max_{t \in J} n(t), \quad m_0 = \min_{t \in J} m(t), \quad P = e_{\Theta\{-m\}}(a, 0) - 1.$$

Let

(3)
$$\begin{cases} x^{\triangle}(t) \ge -m(t)x(t) - n(t) \int_0^t k(t,s)x(s)\Delta s, \\ x(0) \ge 0. \end{cases}$$

Then $x(t) \geq 0, t \in J$.

Lemma 2 [8]. Assume that assumptions $(H_1), (H_2)$ are satisfied. Then, for any $h \in C(J, \mathbf{R})$, the initial problem

(4)
$$\begin{cases} x^{\triangle}(t) = -m(t)x(t) - n(t) \int_0^t k(t, s)x(s)\Delta s + h(t), \\ x(0) = x_0 \end{cases}$$

has a unique solution x_h .

Put

$$\Omega = \left\{ (t, u, v) : t \in J, \ y_0(t) \le u \le z_0(t), \right.$$
$$\int_0^t k(t, s) y_0(s) \Delta s \le v \le \int_0^t k(t, s) z_0(s) \Delta s \right\}.$$

Using a mean value theorem, we have

Lemma 3. Let $u \geq \bar{u}$, $v \geq \bar{v}$. Assume that $F, \Phi \in C(\Omega, \mathcal{R})$. Assume that F_x , F_y , Φ_x , Φ_y exist and F_x , Φ_x , Φ_y are nondecreasing in the second variable and F_x , F_y , Φ_y are nondecreasing in the third variable. Then, for $F = f + \Phi$, we have

$$f(t, u, v) - f(t, \bar{u}, \bar{v}) \ge [F_x(t, \bar{u}, \bar{v}) - \Phi_x(t, u, v)][u - \bar{u}] + [F_y(t, \bar{u}, \bar{v}) - \Phi_y(t, u, v)][v - \bar{v}].$$

Note that F_x denotes the derivative of F with respect to second variable and F_y denotes the derivative of F with respect to the last variable.

Put

$$(F_x u)(t) = F_x \left(t, u(t), \int_0^t k(t, s) u(s) \Delta s \right),$$

$$(\Phi_x u)(t) = \Phi_x \left(t, u(t), \int_0^t k(t, s) u(s) \Delta s \right).$$

In a similar way, we define $(F_y u)(t)$, $(\Phi_y u)(t)$.

For n = 0, 1, ..., let us define two sequences $\{y_n, z_n\}$, by relations (5)

$$\begin{cases} y_{n+1}^{\triangle}(t) = (\mathcal{F}y_n)(t) + [(F_xy_n)(t) - (\Phi_xz_n)(t)][y_{n+1}(t) - y_n(t)] \\ + [(F_yy_n)(t) - (\Phi_yz_n)(t)] \int_0^t k(t,s)[y_{n+1}(s) - y_n(s)] \Delta s, \\ y_{n+1}(0) = x_0, \end{cases}$$

$$\begin{cases} z_{n+1}^{\triangle}(t) = (\mathcal{F}z_n)(t) + [(F_x y_n)(t) - (\Phi_x z_n)(t)][z_{n+1}(t) - z_n(t)] \\ + [(F_y y_n)(t) - (\Phi_y z_n)(t)] \int_0^t k(t,s)[z_{n+1}(s) - z_n(s)] \Delta s, \\ z_{n+1}(0) = x_0. \end{cases}$$

A function y_0 is said to be a lower solution of problem (1) if

$$\begin{cases} y_0^{\triangle}(t) \leq f\left(t, y_0(t), \int_0^t k(t, s) y_0(s) \Delta s\right) & t \in J, \\ y_0(0) \leq x_0. \end{cases}$$

Similarly, a function z_0 is an upper solution of (1) if the above inequalities are reversed.

Lemma 4. Suppose $f \in C(J \times \mathbf{R} \times \mathbf{R}, \mathbf{R})$. Assume that y_0, z_0 are lower and upper solutions of problem (1), respectively, and $y_0(t) \le$

 $z_0(t), t \in J$. Let u, v be lower and upper solutions of (1), respectively, and moreover $y_0(t) \leq u(t) \leq v(t) \leq z_0(t), t \in J$. In addition, we assume that F_x , F_y , Φ_x , Φ_y exist and F_x , F_y , Φ_x , Φ_y are nondecreasing in the second variable and F_x , F_y , Φ_x , Φ_y are nondecreasing in the third variable (here $F = f + \Phi$). Let assumptions (H_1) , (H_2) hold with

(7)
$$m(t) = -(F_x y_0)(t) + (\Phi_x z_0)(t), \quad n(t) = -(F_y y_0)(t) + (\Phi_y z_0)(t).$$

Put

$$h(t, w) = (\mathcal{F}w)(t) + M(t)w(t) + N(t) \int_0^t k(t, s)w(s)\Delta s$$

with

$$M(t) = -[(F_x u)(t) - (\Phi_x v)(t)], \quad N(t) = -[(F_y u)(t) - (\Phi_y v)(t)].$$

Then

(i) the initial problems

$$\begin{cases} y^{\triangle}(t) = -M(t)y(t) - N(t) \int_0^t k(t,s)y(s)\Delta s + h(t,u) & t \in J, \\ y(0) = x_0, \end{cases}$$

$$\begin{cases} z^{\triangle}(t) = -M(t)z(t) - N(t) \int_0^t k(t,s)z(s)\Delta s + h(t,v) & t \in J, \\ x(0) = x_0 \end{cases}$$

 $have\ their\ unique\ solutions\ y,z,\ respectively,$

- (ii) $u(t) \le y(t) \le z(t) \le v(t), t \in J$,
- (iii) y, z are lower and upper solutions of problem (1), respectively.

Proof. In view of the monotonicity of F_x , F_y , Φ_x , Φ_y , we have $M(t) \leq m(t)$, $N(t) \leq n(t)$, $t \in J$. This and Lemma 2 show that part (i) holds. To show part (ii) we put p = y - u. Then $p(0) \geq 0$, and

$$\begin{split} p^{\triangle}(t) &\geq (\mathcal{F}u)(t) - M(t)[y(t) - u(t)] \\ &- N(t) \int_0^t k(t,s)[y(s) - u(s)] \Delta s - (\mathcal{F}u)(t) \\ &= - M(t)p(t) - N(t) \int_0^t k(t,s)p(s) \Delta s. \end{split}$$

Hence $y(t) \ge u(t)$, $t \in J$, in view of Lemma 1. In a similar way, we have $v(t) \ge z(t)$, $t \in J$. Now, we put p = z - y, so p(0) = 0. In view of Lemma 3, we have

$$\begin{split} p^{\triangle}(t) &= (\mathcal{F}v)(t) - (\mathcal{F}u)(t) - M(t)[z(t) - v(t) - y(t) + u(t)] \\ &- N(t) \int_0^t k(t,s)[z(s) - v(s) - y(s) + u(s)] \Delta s \\ &\geq - M(t)[v(t) - u(t)] - N(t) \int_0^t k(t,s)[v(s) - u(s)] \Delta s \\ &- M(t)[z(t) - v(t) - y(t) + u(t)] \\ &- N(t) \int_0^t k(t,s)[z(s) - v(s) - y(s) + u(s)] \Delta s \\ &= - M(t)p(t) - N(t) \int_0^t k(t,s)p(s) \Delta s. \end{split}$$

By Lemma 1, $z(t) \ge y(t)$, $t \in J$. It proves that (ii) holds.

In the next step, we show that z is an upper solution of problem (1). Note that

$$\begin{split} z^{\triangle}(t) &= (\mathcal{F}v)(t) - (\mathcal{F}z)(t) + (\mathcal{F}z)(t) - M(t)[z(t) - v(t)] \\ &- N(t) \int_0^t k(t,s)[z(s) - v(s)] \Delta s \\ &\geq [(F_x z)(t) - (\Phi_x v)(t)][v(t) - z(t)] \\ &+ [(F_y z)(t) - (\Phi_y v)(t)] \int_0^t k(t,s)[v(s) - z(s)] \Delta s \\ &- M(t)[z(t) - v(t)] - N(t) \int_0^t k(t,s)[z(s) - v(s)] \Delta s \\ &\geq (\mathcal{F}z)(t)) \end{split}$$

in view of Lemma 3 and the monotonicity of F_x , F_y , Φ_x , Φ_y . In the same way, we can show that y is a lower solution of problem (1). This ends the proof.

4. Main results.

Theorem 2. Suppose that $f \in C(J \times \mathbf{R} \times \mathbf{R}, \mathbf{R})$. Assume that y_0, z_0 are lower and upper solutions of problem (1), respectively, and

 $y_0(t) \leq z_0(t), t \in J$. In addition, assume that F_{xx} , F_{xy} , F_{yy} , Φ_{xx} , Φ_{xy} , Φ_{yy} exist for $F = f + \Phi$, are continuous and

$$F_{xx}(t, u, v) \ge 0$$
, $F_{xy}(t, u, v) \ge 0$, $F_{yy}(t, u, v) \ge 0$, $\Phi_{xx}(t, u, v) \ge 0$, $\Phi_{xy}(t, u, v) \ge 0$, $\Phi_{yy}(t, u, v) \ge 0$

for $(t, u, v) \in \Omega$. Let assumptions $(H_1), (H_2)$ hold with functions m and n defined by (7). Then problem (1) has a unique solution being the limit of sequences $\{y_n, z_n\}$ defined by (5)–(6) and this convergence is quadratic.

Proof. In view of Lemma 4, y_1 , z_1 are well defined and $y_0(t) \leq y_1(t) \leq z_1(t) \leq z_0(t)$, $t \in J$. Moreover, y_1, z_1 are lower and upper solutions of problem (1), respectively. By induction, we have the following relation

$$y_0(t) \le \dots \le y_n(t) \le y_{n+1}(t) \le z_{n+1}(t) \le z_n(t) \le \dots \le z_0(t), \quad t \in J$$

for $n = 0, 1, \ldots$. Since the interval J is compact and the convergence is monotone and bounded, sequences $\{y_n, z_n\}$ converge uniformly to some limit functions y and z, respectively. Indeed, functions y and z satisfy the equations

$$y(t) = x_0 + \int_0^t (\mathcal{F}y)(s)\Delta s, \quad z(t) = x_0 + \int_0^t (\mathcal{F}z)(s)\Delta s$$

and $y_0(t) \leq y(t) \leq z(t) \leq z_0(t), t \in J$. Put

$$\overline{M}(t) = -\left[F_x\left(t, \xi_1(t), \int_0^t k(t, s)z(s)\Delta s\right) - \Phi_x\left(t, \xi_1(t), \int_0^t k(t, s)z(s)\Delta s\right)\right],$$

$$\overline{N}(t) = -[F_y(t, y(t), \xi_2(t)) - \Phi_y(t, y(t), \xi_2(t))],$$

where $y(t) \leq \xi_1(t) \leq z(t)$, $\int_0^t k(t,s)y(s)\Delta s < \xi_2(t) < \int_0^t k(t,s)z(s)\Delta s$ and ξ_1, ξ_2 are continuous functions. Let p(t) = z(t) - y(t), $t \in J$. Then, using the mean value theorem, we have

(8)
$$p^{\triangle}(t) = -\overline{M}(t)p(t) - \overline{N}(t) \int_0^t k(t,s)p(s)\Delta s, \quad p(0) = 0.$$

Note that $\overline{M}(t) \leq m(t)$, $\overline{N}(t) \leq n(t)$, $t \in J$. This and Lemma 2 show that p(t) = 0, $t \in J$, is a unique solution of problem (8). Hence, y(t) = z(t) on J is a unique solution of problem (1).

Now we need to show that the convergence of y_n and z_n to y is quadratic. Put

$$p_{n+1}(t) = y(t) - y_{n+1}(t) \ge 0, \quad q_{n+1}(t) = z_{n+1}(t) - y(t) \ge 0, \quad t \in J.$$

We see that

$$\begin{split} p_{n+1}(t) &= \int_0^t [(\mathcal{F}y)(s) - (\mathcal{F}y_n)(s)] \Delta s \\ &- \int_0^t [(F_x y_n)(s) - (\Phi_x z_n)(s)] [y_{n+1}(s) - y_n(s)] \Delta s \\ &- \int_0^t \Big\{ [(F_y y_n)(s) - (\Phi_y z_n)(s)] \int_0^s k(s,\tau) [y_{n+1}(\tau) - y_n(\tau)] \Delta \tau \Big\} \Delta s \\ &\leq \int_0^t [(F_x y)(s) - (\Phi_x y_n)(s)] p_n(s) \Delta s \\ &+ \int_0^t \Big\{ [(F_y y)(s) - (\Phi_y y_n)(s)] \int_0^s k(s,\tau) p_n(\tau) \Delta \tau \Big\} \Delta s \\ &- \int_0^t [(F_x y_n)(s) - (\Phi_x z_n)(s)] [p_n(s) - p_{n+1}(s)] \Delta s \\ &- \int_0^t \Big\{ [(F_y y_n)(s) - (\Phi_y z_n)(s)] \int_0^s k(s,\tau) [p_n(\tau) - p_{n+1}(\tau)] \Delta \tau \Big\} \Delta s \\ &= \int_0^t [(F_x y)(s) - (F_x y_n)(s) + (\Phi_x z_n)(s) - (\Phi_x y_n)(s)] p_n(s) \Delta s \\ &+ \int_0^t \Big\{ [(F_y y)(s) - (F_y y_n)(s) + (\Phi_y z_n)(s) - (\Phi_y y_n)(s)] \\ &\qquad \qquad \times \int_0^s k(s,\tau) p_n(\tau) \Delta \tau \Big\} \Delta s \\ &+ \int_0^t \Big\{ [(F_y y_n)(s) - (\Phi_y z_n)(s)] p_{n+1}(s) \Delta s \\ &+ \int_0^t \Big\{ [(F_y y_n)(s) - (\Phi_y z_n)(s)] \int_0^s k(s,\tau) p_{n+1}(\tau) \Delta \tau \Big\} \Delta s. \end{split}$$

Let

$$|F_{xx}(t,x,y)| \le A_1, \quad |F_{xy}(t,x,y)| \le A_2, \quad |F_{yy}(t,x,y)| \le A_3,$$

 $|\Phi_{xx}(t,x,y)| \le B_1, \quad |\Phi_{xy}(t,x,y)| \le B_2, \quad |\Phi_{yy}(t,x,y)| \le B_3$

for $(t, x, y) \in \Omega$. Then

$$(F_{x}y)(s) - (F_{x}y_{n})(s) + (\Phi_{x}z_{n})(s) - (\Phi_{x}y_{n})(s)$$

$$= F_{xx}\left(s, \xi_{3}(s), \int_{0}^{s} k(s, \tau)y(\tau)\Delta\tau\right)p_{n}(s)$$

$$+ F_{xy}(s, y_{n}(s), \xi_{4}(s)) \int_{0}^{s} k(s, \tau)p_{n}(\tau)\Delta\tau$$

$$+ \Phi_{xx}\left(s, \xi_{5}(s), \int_{0}^{s} k(s, \tau)z_{n}(\tau)\Delta\tau\right)[z_{n}(s) - y_{n}(s)]$$

$$+ \Phi_{xy}(s, y_{n}(s), \xi_{6}(s)) \int_{0}^{s} k(s, \tau)[z_{n}(\tau) - y_{n}(\tau)]\Delta\tau$$

$$\leq A_{1}p_{n}(s) + A_{2} \int_{0}^{s} k(s, \tau)p_{n}(\tau)\Delta\tau + B_{1}[q_{n}(s) + p_{n}(s)]$$

$$+ B_{2} \int_{0}^{s} k(s, \tau)[q_{n}(\tau) + p_{n}(\tau)]\Delta\tau,$$

where

$$\begin{aligned} y_n(s) &< \xi_3(s) < y(s), \\ \int_0^s k(s,\tau) y_n(\tau) \Delta \tau &< \xi_4(s) < \int_0^s k(s,\tau) y(\tau) \Delta \tau, \\ y_n(s) &< \xi_5(s) < z_n(s), \\ \int_0^s k(s,\tau) y_n(\tau) \Delta \tau &< \xi_6(s) < \int_0^s k(s,\tau) z_n(\tau) \Delta \tau. \end{aligned}$$

In a similar way we can show that

$$\begin{split} (F_y y)(s) - (F_y y_n)(s) + (\Phi_y z_n)(s) - (\Phi_y y_n)(s) \\ & \leq A_2 p_n(s) + A_3 \int_0^s k(s,\tau) \, p_n(\tau) \Delta \tau \\ & + B_2 [q_n(s) + p_n(s)] + B_3 \int_0^s k(s,\tau) [q_n(\tau) + p_n(\tau)] \Delta \tau. \end{split}$$

Using the above inequalities, we have

(9)
$$p_{n+1}(t) \leq D + D_1 \int_0^t p_{n+1}(s) \Delta s + D_2 K_0 \int_0^t \int_0^s p_{n+1}(\tau) \Delta \tau \Delta s$$
,

where

$$\begin{split} D &= T[A\|p_n\|^2 + B\|q_n\|^2],\\ \|p_n\| &= \max_{t \in J} |p_n(t)|, \quad \|q_n\| = \max_{t \in J} |q_n(t)|,\\ A &= A_1 + TK_0(2A_2 + A_3K_0T) + \frac{3}{2} \left[B_1 + TK_0(2B_2 + B_3K_0T)\right],\\ B &= \frac{1}{2} \left[B_1 + TK_0(2B_2 + B_3TK_0)\right],\\ D_1 &= D_{11} + D_{12}, \quad D_2 = D_{21} + D_{22},\\ |F_x(t, x, y)| &\leq D_{11}, \quad |\Phi_x(t, x, y)| \leq D_{12},\\ |F_y(t, x, y)| &\leq D_{21}, \quad |\Phi_y(t, x, y)| \leq D_{22}. \end{split}$$

To obtain the formula for D we applied the property that $2ab \le a^2 + b^2$ for nonnegative a, b. By w we denote the right-hand side of equation (9). Then

$$w^{\triangle}(t) = D_1 p_{n+1}(t) + D_2 K_0 \int_0^t p_{n+1}(\tau) \Delta \tau.$$

Note that $w^{\triangle}(t) \geq 0$ on J, so w is nondecreasing. This yields

$$\begin{cases} w^{\triangle}(t) \le \alpha w(t) & t \in J, \\ w(0) = D \end{cases}$$

with $\alpha = D_1 + D_2 K_0 T$. The constant α is positive, so α is positive regressive, i.e., $1 + \mu(t)\alpha > 0$. This and Theorem 6.1 of [4] yield

$$w(t) \le De_{\alpha}(t,0), \quad t \in J.$$

Hence,

$$(10) p_{n+1}(t) \le w(t) \le De_{\alpha}(t,0),$$

so

(11)
$$||p_{n+1}|| \le \alpha_1 [A||p_n||^2 + B||q_n||^2]$$

with $\alpha_1 = T \max_{t \in J} e_{\alpha}(t, 0)$.

In a similar way, we can show that

$$||q_{n+1}|| \le \alpha_2 ||p_n||^2 + \alpha_3 ||q_n||^2$$

for some positive α_2, α_3 . This and (11) prove the assertion of Theorem 1. It ends the proof. \Box

Remark 1. If $\mathbf{T} = \mathbf{R}$, then $e_{\alpha}(t,0) = \exp(\alpha t)$, but if $\mathbf{T} = \mathbf{Z}$, then $e_{\alpha}(t,0) = (1+\alpha)^t$.

We can also discuss the case when f in equation (1) is replaced by f + g. Then problem (1) takes the form

(12)
$$\begin{cases} x^{\triangle}(t) = (\mathcal{F}x)(t) + (\mathcal{G}x)(t) & t \in J, \\ x(0) = x_0 \in \mathbf{R} \end{cases}$$

with

$$(\mathcal{F}x)(t) \equiv f\left(t, x(t), \int_0^t k(t, s)x(s)\triangle s\right),$$
$$(\mathcal{G}x)(t) \equiv g\left(t, x(t), \int_0^t k(t, s)x(s)\triangle s\right).$$

For n = 0, 1, ..., let us define two sequences $\{y_n, z_n\}$, by relations (13)

$$\begin{cases} y_{n+1}^{\triangle}(t) = (\mathcal{F}y_n + \mathcal{G}y_n)(t) + V(t, y_n, z_n)[y_{n+1}(t) - y_n(t)] \\ + W(t, y_n, z_n) \int_0^t k(t, s)[y_{n+1}(s) - y_n(s)] \Delta s & t \in J, \\ y_{n+1}(0) = x_0, \end{cases}$$

$$\begin{cases} z_{n+1}^{\triangle}(t) = (\mathcal{F}z_n + \mathcal{G}z_n)(t) + V(t, y_n, z_n)[z_{n+1}(t) - z_n(t)] \\ + W(t, y_n, z_n) \int_0^t k(t, s)[z_{n+1}(s) - z_n(s)] \Delta s & t \in J, \\ z_{n+1}(0) = x_0, \end{cases}$$

where $F = f + \Phi$, $G = q + \Psi$ and

$$V(t, y_n, z_n) = (F_x y_n)(t) - (\Phi_x z_n)(t) + (G_x z_n)(t) - (\Psi_x y_n)(t)$$

$$W(t, y_n, z_n) = (F_y y_n)(t) - (\Phi_y z_n)(t)] + (G_y z_n)(t) - (\Psi_y y_n)(t).$$

Theorem 3. Suppose that $f, g \in C(J \times \mathbf{R} \times \mathbf{R}, \mathbf{R})$. Assume that y_0, z_0 are lower and upper solutions of problem (12), respectively and $y_0(t) \leq z_0(t), t \in J$. In addition assume that $F_{xx}, F_{xy}, F_{yy}, \Phi_{xx}, \Phi_{xy}, \Phi_{yy}, G_{xx}, G_{xy}, G_{yy}, \Psi_{xx}, \Psi_{xy}, \Psi_{yy}$, exist for $F = f + \Phi$, $G = g + \Psi$, are continuous and

$$\begin{split} F_{xx}(t,u,v) &\geq 0, \quad F_{xy}(t,u,v) \geq 0, \quad F_{yy}(t,u,v) \geq 0, \\ \Phi_{xx}(t,u,v) &\geq 0, \quad \Phi_{xy}(t,u,v) \geq 0, \quad \Phi_{yy}(t,u,v) \geq 0, \\ G_{xx}(t,u,v) &\leq 0, \quad G_{xy}(t,u,v) \leq 0, \quad G_{yy}(t,u,v) \leq 0, \\ \Psi_{xx}(t,u,v) &\leq 0, \quad \Psi_{xy}(t,u,v) \leq 0, \quad \Psi_{yy}(t,u,v) \leq 0 \end{split}$$

for $(t, u, v) \in \Omega$. Let Assumptions $(H_1), (H_2)$ hold with functions

$$m(t) = -V(t, y_0, z_0), \quad n(t) = -W(t, y_0, z_0).$$

Then problem (12) has a unique solution being the limit of sequences $\{y_n, z_n\}$ defined by (13)–(14), and this convergence is quadratic.

REFERENCES

- 1. R.P. Agarwal and M. Bohner, Basic calculus on time scales and some of its applications, Results Math. 35 (1999), 3–22.
- 2. E. Akin-Bohner and F.M. Atici, A quasilinearization approach for two-point nonlinear boundary value problems on time scales, Rocky Mountain J. Math. 35 (2005), 19–45.
- **3.** F.M. Atici and S.G. Topal, The generalized quasilinearization method and three point boundary value problems on time scales, Appl. Math. Lett. **18** (2005), 577–585.
- ${\bf 4.}$ M.Bohner and A. Peterson, $Dynamic\ equations\ on\ time\ scales,$ Birkhauser, Boston, 2001.
- ${\bf 5.~S.Hilger,~} Analysis~on~measure~chains-A~unified~approach~to~continuous~and~discrete~calculus,~Results~Math.~} {\bf 18}~(1990),~18-56.$
- **6.** B. Kaymakçalan, V. Lakshmikantham and S. Sivasundaram, *Dynamic systems on measure chains*, Kluwer Acad. Publ., Boston, 1996.

- 7. V. Lakshmikantham and A.S. Vatsala, Generalized quasilinearization for nonlinear problems, Kluwer Acad. Publ., Dordrecht, 1998.
- 8. Y. Xing, M. Han and G. Zheng, Initial value problem for first-order integro-differential equation of Volterra type on time scales, Nonlinear Anal. 60 (2005), 429–442.

GDANSK UNIVERSITY OF TECHNOLOGY, DEPARTMENT OF DIFFERENTIAL EQUATIONS, 11/12 G. NARUTOWICZ STR., 80-952 GDAŃSK, POLAND $E\text{-}mail\ address:}$ tjank@mifgate.mif.pg.gda.pl